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<latexit sha1_base64="FIfg3ahpwtnYnUTp6Dbs6V9T7NM=">AAAB+nicbVDLSgNBEJz1GeNro0cvg0ESL2FXgnoMehFPEcwDskuYncwmQ+axzMwqIeZTvHhQxKtf4s2/cZLsQRMLGoqqbrq7ooRRbTzv21lZXVvf2Mxt5bd3dvf23cJBU8tUYdLAkknVjpAmjArSMNQw0k4UQTxipBUNr6d+64EoTaW4N6OEhBz1BY0pRsZKXbdwCwM8oKUSLAeSkz467bpFr+LNAJeJn5EiyFDvul9BT+KUE2EwQ1p3fC8x4RgpQzEjk3yQapIgPER90rFUIE50OJ6dPoEnVunBWCpbwsCZ+ntijLjWIx7ZTo7MQC96U/E/r5Oa+DIcU5Gkhgg8XxSnDBoJpznAHlUEGzayBGFF7a0QD5BC2Ni08jYEf/HlZdI8q/jnlepdtVi7yuLIgSNwDMrABxegBm5AHTQABo/gGbyCN+fJeXHenY9564qTzRyCP3A+fwDjzJJ8</latexit>

J�00(!)

<latexit sha1_base64="E+v46eMYX2dvx+oNimoAvGgqy08=">AAAB73icbVDLSgNBEOyNrxhfUY9eBoPgKe5KUI9BL+IpgnlAEsLsZDYZMo91ZlYIS37CiwdFvPo73vwbJ8keNLGgoajqprsrjDkz1ve/vdzK6tr6Rn6zsLW9s7tX3D9oGJVoQutEcaVbITaUM0nrlllOW7GmWIScNsPRzdRvPlFtmJIPdhzTrsADySJGsHVSq6MEHeCzu16x5Jf9GdAyCTJSggy1XvGr01ckEVRawrEx7cCPbTfF2jLC6aTQSQyNMRnhAW07KrGgppvO7p2gE6f0UaS0K2nRTP09kWJhzFiErlNgOzSL3lT8z2snNrrqpkzGiaWSzBdFCUdWoenzqM80JZaPHcFEM3crIkOsMbEuooILIVh8eZk0zsvBRblyXylVr7M48nAEx3AKAVxCFW6hBnUgwOEZXuHNe/RevHfvY96a87KZQ/gD7/MHmWmPsQ==</latexit>

!/J

<latexit sha1_base64="KA8t/zYg6BbYqh67boOupy3KdmU=">AAAB7HicbVBNS8NAEJ3Ur1q/qh69LBbBU0mktPUgFL14rGDaQhvKZrtJl242YXcjhNDf4MWDIl79Qd78N24/Dtr6YODx3gwz8/yEM6Vt+9sqbGxube8Ud0t7+weHR+Xjk46KU0moS2Iey56PFeVMUFczzWkvkRRHPqddf3I387tPVCoWi0edJdSLcChYwAjWRnLDm3BIhuWKXbXrTqN5jQyZAzmrpAJLtIflr8EoJmlEhSYcK9V37ER7OZaaEU6npUGqaILJBIe0b6jAEVVePj92ii6MMkJBLE0Jjebq74kcR0plkW86I6zHatWbif95/VQHTS9nIkk1FWSxKEg50jGafY5GTFKieWYIJpKZWxEZY4mJNvmUTAhrL6+TzlXVqVdrD7VK63YZRxHO4BwuwYEGtOAe2uACAQbP8ApvlrBerHfrY9FasJYzp/AH1ucPtIqOog==</latexit>g = gc

<latexit sha1_base64="+gsy+8bXifXpwd+EQTL7T0ATGYw=">AAAB8HicbVBNS8NAEN3Ur1q/qh69LBbBU9i00dqDUPTisYKtlTaUzXaTLt1Nwu5GKKG/wosHRbz6c7z5b9y2OWj1wcDjvRlm5vkJZ0oj9GUVVlbX1jeKm6Wt7Z3dvfL+QUfFqSS0TWIey66PFeUsom3NNKfdRFIsfE7v/fH1zL9/pFKxOLrTk4R6AocRCxjB2kgP4aVjV2E4IINyBdkN5J7VGhDZtTpCrmMImgM6OamAHK1B+bM/jEkqaKQJx0r1HJRoL8NSM8LptNRPFU0wGeOQ9gyNsKDKy+YHT+GJUYYwiKWpSMO5+nMiw0KpifBNp8B6pJa9mfif10t1cOFlLEpSTSOyWBSkHOoYzr6HQyYp0XxiCCaSmVshGWGJiTYZlUwIzvLLf0mnajvntnvrVppXeRxFcASOwSlwQB00wQ1ogTYgQIAn8AJeLWk9W2/W+6K1YOUzh+AXrI9vbVmPiA==</latexit>

g = 1.2gc


